Mobile Personal Safety Partition Installation Instructions

Components included in this Kit:

/—TOP BEAM

1. (1) Clear Curtain Assembly

(2) Posts, Side

(2) Foot, 12”

(6) Screw, Pan Head 10-32 x 1-1/2” L.
(6) Nut, Lock 10-32

vk wnN

Assemble the Unit

A. Attach each Side Post to the Top Beam with two (2) Screw,
Pan Head 10-32 x 1-1/2” L. and two (2) Nut, Lock 10-32.

BOTTOM BEAM

B. Usingone (1) Screw, Pan Head 10-32 x 1-1/2” L. and one
(1) Nut, Lock 10-32, attach the Bottom Beam, Side Post,
and Foot simultaneously.
v O 6

C. Repeat for the other end of the Bottom Beam, the other
Side Post, and the other Foot.

,/?if
P
k.‘f\\ B

T

>
A
o
. = P

NOTE: Seek the help of a professional, or contact Goff’s |

Technical Support at the number above, if you are having

trouble assembling your Mobile Personal Safety Partition. ”\\_ &&

Mobile Personal Safety Partition Installation Instructions Rev - 5-5-2020




